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5.1 EARMEZR (basic elements)
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[ (a) LbE=R (proportional element) ]
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[ (b) BENE= (integral element) ]
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5.1 EARMEZR (basic elements)

[ (c) WD EZ% (derivative element) ]
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[ (d) —RENEx% (first-order lag element) ]
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5.1 EARMEZR (basic elements)

[ (e) Z/XENE= (second-order lag element) ]
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5.1 EARMEZR (basic elements)

[ (f) OIEEEZESR (dead time element) ]
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vo(t) = vi(t — L)

[ (g) ERZEZ(high-order elment) ]
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5.2 {mEREEST S XZEH: (transfer function and Laplace transformation)
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5.2 {mEREEST S XZEH: (transfer function and Laplace transformation)
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5.2 {mEREEST S XZEH: (transfer function and Laplace transformation)
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5.2 {mEREEST S XZEH: (transfer function and Laplace transformation)
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5.3 EAREIZANEE(basic step functions)
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5.3 EAREIZANEE(basic step functions)
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